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परीक्षार्थी प्रश् न-पत्र कोड को उत्तर-पसु्तिका के 

मखु-पषृ्ठ पर अवश्य स्िखें ।  
Candidates must write the Q.P. Code 
on the title page of the answer-book. 
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CHEMISTRY (Theory) 

निर्धारित समय : 3 घण्टे   अनर्कतम अंक : 70 
Time allowed : 3 hours  Maximum Marks : 70 

(I) कृपया जााँच कर िें स्क इस प्रश् न-पत्र में मसु्िि पषृ्ठ 23 हैं ।  
 Please check that this question paper contains 23 printed pages. 

(II) प्रश् न-पत्र में दास्हन ेहार्थ की ओर स्दए गए प्रश् न-पत्र कोड को परीक्षार्थी उत्तर-पसु्तिका के मखु-पषृ्ठ पर 

स्िखें । 

 Q.P. Code given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

(III) कृपया जााँच कर िें स्क इस प्रश् न-पत्र में 33 प्रश् न हैं । 
 Please check that this question paper contains 33 questions. 

(IV) कृपया प्रश् न का उत्तर ललखना शुरू करने से पहले, उत्तर-पुलतिका में यथा तथान पर प्रश् न का 

क्रमांक अवश्य ललखें । 

 Please write down the Serial Number of the question in the  

answer-book at the given place before attempting it. 

(V) इस प्रश् न-पत्र को पढ़ने के स्िए 15 स्मनट का समय स्दया गया ह ै । प्रश् न-पत्र का स्विरण पवूााह्न में  

10.15 बजे स्कया जाएगा । 10.15 बजे स े10.30 बजे िक परीक्षार्थी केवि प्रश् न-पत्र को पढ़ेंग ेऔर 

इस अवस्ि के दौरान वे उत्तर-पसु्तिका पर कोई उत्तर नहीं स्िखेंगे । 
 15 minute time has been allotted to read this question paper. The 

question  paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the candidates will read the question paper only and will not 
write any answer on the answer-book during this period.   
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सामान्य निर्देश : 

निम्िनिनित निर्देशों को ध्यधिपरू्ाक पऩिए औि उिकध पधिि कीनिए : 

(i) इस प्रश् ि-पत्र में 33 प्रश् ि हैं । सभी प्रश् ि अनिवायय हैं । 

(ii) यह प्रश् ि-पत्र पााँच िण्डों में नर्भधनित ह ै– खण्ड क, ख, ग, घ, एरं् ङ ।   

(iii) खण्ड क – प्रश् ि संख्यध 1 से 16 तक बहुनर्कल्पीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 1 अंक कध ह ै।  

(iv) खण्ड ख – प्रश् ि संख्यध 17 से 21 तक अनत िघ-ुउत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 2 अंकों कध ह ै। 

(v) खण्ड ग – प्रश् ि संख्यध 22 से 28 तक िघु-उत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 3 अंकों कध ह ै। 

(vi) खण्ड घ – प्रश् ि संख्यध 29 तथध 30 केस-आर्धरित प्रश् ि हैं । प्रत्येक प्रश् ि 4 अंकों कध ह ै। 

(vii) खण्ड ङ – प्रश् ि संख्यध 31 से 33 र्दीघा-उत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 5 अंकों कध ह ै। 

(viii) प्रश् ि-पत्र में समग्र नर्कल्प िहीं नर्दयध गयध ह ै। यद्यनप, िण्ड क के अनतरिक्त अन्य सभी िण्डों के कुछ प्रश् िों में 

आंतरिक नर्कल्प कध चयि नर्दयध गयध ह ै।  

(ix) ध्यधि र्दें नक दृनिबधनर्त पिीक्षधनथायों के निए अिग प्रश् ि-पत्र ह ै।  

(x) कैल्कुिेटि कध उपयोग वनजयत ह ै।  

खण्ड क 

प्रश् ि संख्यध 1 से 16 तक बहुनर्कल्पीय प्रकधि के 1 अंक के प्रश् ि हैं । 161=16 

1. क् यमूीन से फीनॉि के स्नमााण में कौन-सा उपोत् पाद प्राप् ि होिा ह ै? 

(A) ऐसीटैस्डडहाइड    (B) ऐसीटोन 
 

(C) ऐस्नसोि 
   

(D) o-क्रीसॉि  

2. क् िोरोबेन् जीन से टॉिईून में एक चरण में रूपान् िरण के स्िए कौन-से अस्िकमाक आवश् यक हैं ?   

(A) NaNO2 + HCl  (B) CH3Cl/ स्नजाि AlCl3 

(C) CH3Cl/Fe, अंिकार  (D) CH3Cl, Na, शषु् क ईर्थर  

3. [Fe(C2O4)3]
3–

 में Fe की उपसहसंयोजन संख् या ह ै:  

(A) 6   (B) 3 

(C) 4   (D) 5  
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General Instructions : 

Read the following instructions carefully and follow them : 

(i) This question paper contains 33 questions. All questions are compulsory.  

(ii) This question paper is divided into five sections – Section A, B, C, D and E.  

(iii) Section A – questions number 1 to 16 are multiple choice type questions. Each 
question carries 1 mark.  

(iv) Section B – questions number 17 to 21 are very short answer type questions. 
Each question carries 2 marks.  

(v) Section C – questions number 22 to 28 are short answer type questions. Each 
question carries 3 marks. 

(vi) Section D – questions number 29 and 30 are case-based questions. Each 
question carries 4 marks.  

(vii) Section E – questions number 31 to 33 are long answer type questions. Each 
question carries 5 marks.  

(viii) There is no overall choice given in the question paper. However, an internal 
choice has been provided in few questions in all the sections except Section A.  

(ix) Kindly note that there is a separate question paper for Visually Impaired 
candidates. 

(x) Use of calculator is not allowed. 

SECTION A 

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark  

each. 161=16 

1. Which by-product is obtained in the manufacture of phenol from cumene ? 

(A) Acetaldehyde   (B) Acetone 
 

(C) Anisole   
 

(D) o-Cresol  

2. Which reagents are required for one step conversion of chlorobenzene to 

toluene ?  

(A) NaNO2 + HCl  (B) CH3Cl/Anhydrous AlCl3 

(C) CH3Cl/Fe, Dark  (D) CH3Cl, Na, Dry ether  

3. Coordination number of Fe in [Fe(C2O4)3]
3–

 is :  

(A) 6   (B) 3 

(C) 4   (D) 5 
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4. स्नम् नस्िस्खि संकुिों में से कौन-सा ज् यास्मिीय समावयविा दशाािा ह ै? 

(A) [Co(NH3)6]
3+   

(B) [Co(NH3)5Cl]
2+ 

 

(C) [Co(NH3)4Cl2]
+   

(D) [Co(NH3)5(ONO)]
2+

 

5. स्नम् नस्िस्खि में से कौन-सा पररविानीय ऑक् सीकरण अवत र्था िहीं दशाािा ह ै? 

(A) Sc   (B) Mn 

(C) Cr   (D) Cu 

6. बेन् जीनडाइऐजोस्नयम क् िोराइड के बेंजीन में पररविान के स्िए कौन-सा अस्िकमाक प्रयकु् ि स्कया जा 

सकिा ह ै? 

(A) Cu/HCl    (B) H2O 

(C) CH3CH2OH  (D) CuCN 

7. जब  मेस्र्थिऐमीन, HNO2 के सार्थ अस्िस्क्रया करिा ह ैिब उत् सस्जाि गैस ह ै: 

(A) NO   (B) N2 

(C) NH3   (D) NO2 

8. क् िोरोफॉमा में ऐसीटोन का स्वियन : 

(A) राउड ट स्नयम का पािन करिा ह ै।  

(B) स्तर्थरक् वार्थी बनािा ह ै। 

(C) राउड ट स्नयम से िनात् मक स्वचिन दशाािा ह ै। 

(D) राउड ट स्नयम से ॠणात् मक स्वचिन दशाािा ह ै। 
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4. Which of the following complexes shows geometrical isomerism ? 

(A) [Co(NH3)6]
3+   

(B) [Co(NH3)5Cl]
2+ 

 

(C) [Co(NH3)4Cl2]
+   

(D) [Co(NH3)5(ONO)]
2+

 

5. Which of the following does not show variable oxidation state ?  

(A) Sc   (B) Mn 

(C) Cr   (D) Cu 

6. The reagent that can be used to convert benzenediazonium chloride to 

benzene is :    

(A) Cu/HCl    (B) H2O 

(C) CH3CH2OH  (D) CuCN 

7. The gas evolved when methylamine reacts with HNO2 is : 

(A) NO   (B) N2 

(C) NH3   (D) NO2 

8. A solution of acetone in chloroform :  

(A) obeys Raoult’s law.  

(B) forms azeotrope. 

(C) shows a positive deviation from Raoult’s law.  

(D) shows a negative deviation from Raoult’s law. 
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9. एक मोिि KCl स्वियन का स्हमांक, यह मानिे हुए स्क KCl जि में पणूािया स्वयोस्जि हो गया, ह ै: 

(जि के स्िए Kf = 1·86 K kg mol–1)   

(A) – 3·72C 

(B) + 3·72C 

(C) – 1·86C 

(D) + 2·72C 

10. एक गैड वनैी सेि, स्वद्यिु-अपघटनी सेि की िााँस्ि व् यवहार करिा ह,ै जब : 

(A) Eसेि = Eबाह्य   (B) Eबाह्य > Eसेि 

(C) Eसेि > Eबाह्य   (D) Eसेि = 0 

11. छद्म प्रर्थम कोस्ट की अस्िस्क्रया के स्िए वेग स्तर्थरांक का मान : 

(A) केवि िाप पर स्निार करिा ह ै।   

(B) कम मात्रा में उपस्तर्थि अस्िकारकों की सांििा पर स्निार करिा ह ै।  

(C) बहुि अस्िक मात्रा में उपस्तर्थि अस्िकारकों की सांििा पर स्निार करिा ह ै।  

(D) अस्िकारकों की सांििा पर स्निार नहीं करिा ह ै। 

12. स्नम् नस्िस्खि में से स्कसके बीच अस्िस्क्रया के कारण फ्रक् टोज, फ्यरेूनोस विय बनािा ह ै? 

(A) C1 और C5   (B) C2 और C5  

(C) C1 और C4   (D) C1 और C2  
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9. The freezing point of one molal KCl solution, assuming KCl to be 

completely dissociated in water, is : (Kf for water = 1·86 K kg mol–1)  

(A) – 3·72C 

(B) + 3·72C 

(C) – 1·86C 

(D) + 2·72C 

10. A galvanic cell can behave like an electrolytic cell when  

(A) Ecell = Eext   (B) Eext > Ecell 

(C) Ecell > Eext   (D) Ecell = 0 

11. The value of rate constant for a pseudo first order reaction :  

(A) depends only on temperature.   

(B) depends on the concentration of reactants present in small amount.   

(C) depends on the concentration of reactants present in large excess. 

(D) is not dependent on the concentration of reactants. 

12. Furanose ring of fructose is formed due to reaction between : 

(A) C1 and C5   (B) C2 and C5  

(C) C1 and C4   (D) C1 and C2  
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प्रश् ि संख्या 13 से 16 के निए, र्दो कथि नर्दए गए हैं — नजिमें एक को अनभकथि (A) तथा रू्दसरे को 

कारण (R) द्वारा अंनकत नकया गया है । इि प्रश् िों के सही उत्तर िीचे नर्दए गए कोडों (A), (B), (C) 

और (D) में से चुिकर र्दीनजए । 

(A) अस्िकर्थन (A) और कारण (R) दोनों सही हैं और कारण (R), अस्िकर्थन (A) की सही 

व्याख्या करिा ह ै। 

(B) अस्िकर्थन (A) और कारण (R) दोनों सही हैं, परन्ि ुकारण (R), अस्िकर्थन (A) की सही 

व्याख्या िहीं करिा ह ै। 

(C) अस्िकर्थन (A) सही ह,ै परन्ि ुकारण (R) ग़िि ह ै। 

(D) अस्िकर्थन (A) ग़िि ह,ै परन्ि ुकारण (R) सही ह ै। 

13. अनभकथि (A) : ऐस्क्टनॉयड ऑक् सीकरण अवत र्थाओ ंका वहृद परास दशाािे हैं ।  

 कधिण (R) : यह 5f, 6d और 7s कक्षकों की समिडु य ऊजााओ ंके कारण ह ै।  

14. अनभकथि (A) : अस्िस्क्रया की कोस्ट शनू् य अर्थवा स्िन् नात् मक हो सकिी ह ै।   

 कधिण (R) : संिसु्िि रासायस्नक समीकरण से हम कोस्ट स्निााररि नहीं कर सकिे हैं ।  

15. अनभकथि (A) : n-C4H9NH2 की िुिना में (C2H5)2NH का क् वर्थनांक स्नम् निर होिा ह ै।  

 कधिण (R) : (C2H5)2NH की अपेक्षा n-C4H9NH2 में हाइड्रोजन आबंिन बहुि अस्िक 

व् यापक रूप से होिा ह ै।  

16. अनभकथि (A) : ऐड कोहॉि की िुिना में फीनॉि कम अम् िीय होिा ह ै।  

 कधिण (R) : ऐड कॉक् साइड आयन की अपेक्षा फीनॉक् साइड आयन अस्िक त र्थायी होिा ह ै।  

खण्ड ख 

17. वाष् पशीि अवयवों वािे स्वियन के स्िए राउड ट स्नयम बिाइए । जि की ििुना में ग् िकूोस के जिीय 

स्वियन का वाष् प दाब स्नम् निर क् यों होिा ह ै? 2 
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For Questions number 13 to 16, two statements are given — one labelled 

as Assertion (A) and the other labelled as Reason (R). Select the correct 

answer to these questions from the codes (A), (B), (C) and (D) as given 

below.  

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of the Assertion (A).  

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 

the correct explanation of the Assertion (A).  

(C) Assertion (A) is true, but Reason (R) is false.  

(D) Assertion (A) is false, but Reason (R) is true. 

13. Assertion (A) :  Actinoids show wide range of oxidation states. 

Reason (R) : This is due to comparable energies of 5f, 6d and 7s 

orbitals. 

14. Assertion (A) :  Order of the reaction can be zero or fractional.  

Reason (R) : We cannot determine order from balanced chemical 

equation. 

15. Assertion (A) :  Boiling point of (C2H5)2NH is lower than that of  

n-C4H9NH2.  

Reason (R) : Hydrogen bonding is much more extensive in n-C4H9NH2 

as compared to (C2H5)2NH.    

16. Assertion (A) :  Phenol is less acidic than alcohol.  

Reason (R) : Phenoxide ion is more stable than alkoxide ion. 

SECTION B 

17. State Raoult’s law for a solution containing volatile components. Why is 

the vapour pressure of an aqueous solution of glucose lower than that of 

water ?  2 
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18. (क) स्नम्नस्ि स्खि उपसहसंयोजन यौस्गकों के IUPAC नाम स्िस्खए :  1+1=2 

(i) [CoCl2(en)2]SO4 

(ii) K3[Fe(C2O4)3]  

 अथवा 

 (ख) स्नम्नस्ि स्खि के बीच अंिर त पष् ट कीस्जए :  1+1=2 

(i) स्ि िवण िर्था संकुि यौस्गक  

(ii) स्िदिंरु स्िगन्ड िर्था उिदिंी स्िगन्ड 

 

19. स्दए गए स्चत्र में दशााए ग्राफ का प्रेक्षण कीस्जए और स्नम्नस्िस्खि प्रश् नों के उत्तर दीस्जए : 1+1=2 

  

(क) अस्िस्क्रया कोस्ट की प्रागसु्क् ि कीस्जए । 

(ख) वक्र की ढाि क्या ह ै? 

20. आप स्नम्नस्िस्खि को कैसे समझाएाँगे ?  1+1=2 

(क) ग्िकूोस में ऐस्डडहाइड समहू की उपस्तर्थस्ि । 

(ख) ग्िकूोस में पााँच – OH समहूों की उपस्तर्थस्ि । 
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18. (a) Write IUPAC names of the following coordination compounds : 1+1=2 

(i) [CoCl2(en)2]SO4 

(ii) K3[Fe(C2O4)3]   

   OR 

(b) Differentiate between :  1+1=2 

(i) Double salt and Complex compound 

(ii) Didentate ligand and Ambidentate ligand 

19. Observe the graph in the given figure and answer the following  

questions : 1+1=2 

 

  

 

(a) Predict the order of reaction. 

(b) What is the slope of the curve ? 

20. How do you explain the following ? 1+1=2 

(a) Presence of an aldehydic group in glucose. 

(b) Presence of five – OH groups in glucose. 
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21. स्नम् नस्िस्खि प्रत् यके अस्िस्क्रया के स्िए मखु् य मोनोहिैो उत् पादों की संरचनाएाँ बनाइए : 1+1=2 

 

(क)   

 

 

 

 

(ख)                                                                                         

  

खण्ड ग 

22. आप ऐस्निीन से स्नम् नस्िस्खि कैसे प्राप् ि करेंगे ? केवि रासायस्नक समीकरण दीस्जए । 31=3 

(क) p-नाइट्रोऐस्निीन    

(ख) क् िोरोबेन् जीन  

(ग) फीनॉि   

23. C4H5N आस्ववक सतू्र का कोई यौस्गक (A) DIBAL-H के सार्थ अपचस्यि होने के बाद  

जि-अपघस्टि होकर यौस्गक (B) दिेा ह ै । यौस्गक (B) िनात्मक टॉिेन्स परीक्षण देिा है, परन्ि ु

आयोडोफॉमा परीक्षण नहीं देिा ह ै। एर्थेनैि को िन ुNaOH के सार्थ अस्िस्क्रस्य ि करने के बाद गरम 

करने पर िी यौस्गक (B) को प्राप्त स्कया जा सकिा ह ै। (A) िर्था (B) की पहचान कीस्जए । (A) की 

अस्िस्क्रयाएाँ स्िस्खए, पहिे DIBAL-H के सार्थ और उसके पश् चाि जि-अपघटन की । 3 

24. SN1 और SN2 अस्िस्क्रयाओ ंके बीच कोई दो अंिर स्िस्खए । स्नम्नस्िस्खि यौस्गकों में से कौन-सा 

SN1 अस्िस्क्रया िीव्रिा से देगा और क्यों ?  3 

                 CH2 – Cl   अर्थवा                     CH2 – Cl 

 

2 2
CH – CH = CH

                               ?+ HBr ⎯⎯⎯⎯⎯⎯→
परॉक् साइड  

OH

2
HO – CH

SOCl2          
? 
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21. Draw the structures of the major monohalo products in each of the 

following reactions :   1+1=2 

 

 

(a)   

 

 

 

 

 

(b)                                                                                               ? 

SECTION C 

22. How can you obtain the following from aniline ? Give only chemical 

equation. 31=3 

 (a) p-nitroaniline     

 (b) Chlorobenzene   

 (c) Phenol  

23. A compound (A) with molecular formula C4H5N on reduction with 

DIBAL-H followed by hydrolysis, gives a compound (B). Compound (B) 

gives positive Tollens’ test but does not give iodoform test. Compound (B) 

can also be obtained when ethanal is treated with dilute NaOH followed 

by heating. Identify (A) and (B). Write the reactions of (A) with DIBAL-H 

followed by hydrolysis.  3 

24. Write any two differences between SN1 and SN2 reactions. Which of the 

following compounds would undergo SN1 reaction faster and why ? 3 

                   CH2 – Cl    or                    CH2 – Cl 

2 2
CH – CH = CH

                               + HBr⎯⎯⎯⎯⎯⎯→
peroxide   

OH

2
HO – CH

SOCl2          
? 
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25. 298 K पर शदु्ध जि का वाष्प दाब 24·8 mm Hg ह ै । स्कसी जिीय स्वियन के वाष्प दाब में 

अवनमन का पररकिन कीस्जए, जो – 0·3C पर स्हमीििू हो जािा ह ै। 3 

 (जि के स्िए Kf = 1·86 K kg mol–1) 

26. (क) [FeF6]3–
 और [Fe(CN)6]4–

 संकुिों के स्वषय में स्नम्नस्िस्खि के उत्तर दीस्जए :  31=3 

 (i) प्रत्येक प्रकरण में सस्म्मस्िि संकरण स्िस्खए ।  

 (ii) उनमें से कौन-सा बाह्य कक्षक संकुि ह ैऔर कौन-सा आंिररक कक्षक संकुि ह ै? 

 (iii) उनके चमु्बकीय व्यवहार की िुिना कीस्जए । 
  [परमाण ुक्रमांक : Fe = 26] 

 अथवा 

(ख) (i) संकुि [Ti(H2O)6]3+ के रंग को क्या होिा ह ैजब उसे िीरे-िीरे गरम स्कया जािा 

ह ै? 

  (ii) d5 आयन का इिेक्ट्रॉस्नक स्वन्यास स्िस्खए यस्द o  P ह ै।  

  (iii) संकुि [Ni(CO)4] के स्िए संकरण और चमु्बकीय व्यवहार स्िस्खए । 

   [परमाण ुक्रमांक : Ni = 28] 31=3 

27. स्नम्नस्िस्खि के स्िए कारण दीस्जए :  31=3 

(क) जिीय NaCl का वैद्यिु-अपघटन करने पर उसके pH में वसृ्द्ध हो जािी ह ै।  

(ख) शषु्क सेि के स्वपरीि, मक्यूारी सेि का सेि स्विव इसकी संपणूा काया अवस्ि में स्तर्थर रहिा ह ै।  

(ग) िनिुा के सार्थ स्वियन की चािकिा घटिी ह ै।  

28. अस्िस्क्रया  

 A + B ⎯→⎯  उत्पाद  

 के स्िए अस्िस्क्रया वेग A और B को स्वस्िन्न प्रारंस्िक सांििाओ ंके फिन के रूप में नीचे स्दया गया ह ै।  

प्रयोग [A] / mol L–1 [B] / mol L–1 प्रारंस्िक वेग/mol L–1 min–1 

1 0·01 0·01 5  10–3 

2 0·02 0·01 1  10–2 

3 0·01 0·02 5  10–3 

 A और B के सापेक्ष अस्िस्क्रया कोस्ट की गणना कीस्जए । अस्िस्क्रया का वेग स्तर्थरांक ज्ञाि कीस्जए ।  3 
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25. Vapour pressure of pure water at 298 K is 24·8 mm Hg. Calculate the 

lowering in vapour pressure of an aqueous solution which freezes at  

– 0·3C. (Kf of water = 1·86 K kg mol–1) 3 

26. (a) Answer the following about the complexes 31=3 

   [FeF6]3–
  and  [Fe(CN)6]4– :  

(i) Write the hybridization involved in each case. 

(ii) Which of them is the outer orbital complex and which one is 

the inner orbital complex ? 

(iii) Compare their magnetic behaviour. 

 [Atomic number : Fe = 26 ]  

  OR 

 (b) (i) What happens to the colour of complex [Ti(H2O)6]3+ when 

heated gradually ? 

(ii) Write the electronic configuration for d
5
 ion if o  P. 

(iii) Write the hybridization and magnetic behaviour of the 

complex [Ni(CO)4]. 

 [Atomic number : Ni = 28 ]  31=3 

27. Give reasons for the following : 31=3 

(a) The pH of aqueous NaCl increases when it is electrolysed. 

(b) Unlike dry cell, mercury cell has a constant cell potential through 

its lifetime. 

(c) Conductivity of solution decreases with dilution. 

28. The rate of a reaction : 

 A + B ⎯→⎯ product  

 is given below as a function of different initial concentrations of A and B. 

  

 

 

 

 Calculate the order of the reaction with respect to A and B. Determine 

the rate constant of the reaction.  3 

Experiment [A] / mol L–1 [B] / mol L–1 Initial Rate/mol L–1 min–1 

1 0·01 0·01 5  10 
–3 

2 0·02 0·01 1  10 
–2 

3 0·01 0·02 5  10 
–3 
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खण्ड घ 

निम्िनिनित प्रश् ि केस-आर्धरित प्रश् ि हैं । केस को ध्यधिपरू्ाक पऩिए औि नर्दए गए प्रश् िों के उत्ति र्दीनिए ।  

29. -ऐमीनो अम्ि प्रोटीनों की संरचनात्मक इकाई हैं । सिी -ऐमीनो अम्ि स््व टर आयन अर्थवा 

उियास्वष्ट आयन के रूप में स्वद्यमान होिे हैं स्जसके कारण वे उियिमी प्रकृस्ि दशाािे हैं । सिी ऐमीनो 

अम्ि पेप्टाइड आबंि िारा जडेु होिे हैं । प्रोटीनों को गोस्िकाकार प्रोटीन और रेशेदार प्रोटीन में 

वगीकृि स्कया गया ह ै। गोस्िकाकार प्रोटीन जि स्विेय होिे हैं, जबस्क रेशेदार प्रोटीन जि स्विेय नहीं 

होिे हैं । प्रोटीनों की संपणूा संरचना का अध्ययन चार स्िन्न तिरों पर स्कया जािा ह,ै यास्न प्रार्थस्मक, 

स्ििीयक, ििृीयक एवं चिषु्क संरचनाएाँ । स्वकृिीकृि रूप में प्रोटीन अपनी जैस्वक सस्क्रयिा को खो 

दिेा ह ै। 

(क) स्नम्नस्िस्खि की पररिाषा स्िस्खए :  2 

 (i) पेप्टाइड बंि  (ii)  स्वकृिीकृि प्रोटीन  

(ख) ऐमीनो अम्ि उियिमी व्यवहार क्यों दशाािे हैं ? 1 

(ग) (i) आप रेशेदार प्रोटीन और गोस्िकाकार प्रोटीन में कैसे अंिर कर सकिे हैं ? 1 

 अथवा 

(ग) (ii) प्रोटीनों की दो स्वस्िन्न स्ििीयक संरचनाओ ंके नाम स्िस्खए ।  1 

30. ऐडकोहॉि ऐसी बहुि सी अस्िस्क्रयाएाँ दिेे हैं स्जनमें C – OH आबन्ि का स्वदिन सस्म्मस्िि होिा  

ह ै । यद्यस्प फीनॉि C – OH आबंि के स्वदिन से सस्म्मस्िि अस्िस्क्रयाएाँ नहीं दिेे हैं । जि की 

अपेक्षा ऐडकोहॉि दबुाि अम्ि होिे हैं । ऐडकोहॉि, हैिोजेन अम् िों के सार्थ अस्िस्क्रया करके संगि 

हिैोऐड केन बनािे हैं । ऐडकोहॉिों की ििुना में फीनॉि प्रबििर अम्ि होिे हैं । फीनॉिों का एक 

स्वस्शष्ट िक्षण यह ह ैस्क वे इिेक्ट्रॉनरागी प्रस्ितर्थापन अस्िस्क्रयाएाँ जैसे हिैोजनन, नाइट्रोकरण, आस्द 

दिेे हैं । चूाँस्क  – OH समहू एक प्रबि सस्क्रयक समहू ह,ै अिः फीनॉि हिैोजनन, नाइट्रोकरण, आस्द 

के दौरान स्त्रप्रस्ितर्थास्पि उत्पाद दिेे हैं । 

(क) क्या होिा ह ैजब फीनॉि स्नम्नस्िस्खि  के सार्थ अस्िस्क्रया करिा ह ै?  2 

 (i) Br2 जि  (ii) सांि HNO3  

(ख) (i) उस अस्िस्क्रया की स्क्रयास्वस्ि स्िस्खए स्जसमें ऐडकोहॉि एक नास्ि करागी की िााँस्ि 

3CH
  के सार्थ अस्िस्क्रया करिा ह ै। 1 

 अथवा 

(ख) (ii) फीनॉि C – OH आबंि स्वदिन की अस्िस्क्रयाएाँ क्यों नहीं दिेे ?  1 
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SECTION D 

The following questions are case-based questions. Read the case carefully and 

answer the questions that follow. 

29. The -amino acids are the building blocks of proteins. All -amino acids 

exist as zwitter ion due to which they show amphoteric behaviour. All 

amino acids are joined through peptide bond. Proteins are broadly 

classified as globular proteins and fibrous proteins. Globular proteins are 

water soluble, whereas fibrous proteins are not. The complete structure of 

protein is discussed at four different levels i.e. primary, secondary, 

tertiary and quaternary structures. Protein loses its biological activity in 

denatured form. 

 (a) Define the following :     2 

   (i) Peptide linkage (ii) Denatured protein 

 (b) Why do amino acids show amphoteric behaviour ?  1 

(c) (i) How can you differentiate between Fibrous protein and 

Globular protein ?  1 

   OR 

(c) (ii) Write the names of two different secondary structures of 

proteins. 1  

30. Alcohols undergo a number of reactions involving the cleavage of C – OH 

bond. However, phenols do not undergo reactions involving the cleavage 

of C – OH bond. Alcohols are weaker acids than water. Alcohols react 

with halogen acids to form the corresponding haloalkanes. Phenols are 

stronger acids than alcohols. A characteristic feature of phenols is that 

they undergo electrophilic substitution reactions such as halogenation, 

nitration, etc. Since – OH group is a strong activating group, phenol gives 

trisubstituted products during halogenation, nitration, etc.   

(a) What happens when phenol is treated with the following ?  2 

(i) Br2 water  (ii) Conc. HNO3   

(b) (i) Write the mechanism of alcohol reacting as nucleophile in a 

reaction with 3CH


. 1 

   OR 

(b) (ii) Why do phenols not undergo reactions involving cleavage of 

C – OH bond ? 1 
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CH3 

 

(ग) आप स्नजाि ZnCl2 की उपस्तर्थस्ि में HCl का उपयोग करके ब्यटेून-1-ऑि िर्था  

2-मेस्र्थिप्रोपेन-2-ऑि में कैसे स्विेद कर सकिे हैं ? 1  

खण्ड ङ 

31. (क) (i) स्नम्नस्िस्खि अस्िस्क्रयाओ ंमें A, B और C की पहचान कीस्जए : 

                                               + CrO3
3 2( )

– 3

CH CO

273 28

O

K
⎯⎯⎯⎯⎯⎯⎯→A 

+
3H O

⎯⎯⎯⎯→B 

 

             

                                                                         C + 

(ii) स्नम्नस्िस्खि के स्िए कारण दीस्जए :  

(I) काबोस्क्सस्िक अम्ि, काबोस्नि समहू की अस्ििक्षस्णक अस्िस्क्रयाएाँ नहीं 

दिेे हैं ।   

(II) एर्थेनॉि की ििुना में एर्थेनॉइक अम्ि प्रबििर अम्ि ह ै।  3+2=5 

 अथवा 

(ख) (i) स्नम्नस्िस्खि अस्िस्क्रयाओ ंमें उत्पाद/उत्पादों को स्िस्खए : 

(I) 2CH3COOH  

 

(II)                                 +  (CH3)2Cd →                                        

 

(III)  

 

(ii) स्नम्नस्िस्खि अस्िस्क्रयाओ ंमें सस्म्मस्िि अस्िस्क्रया स्िस्खए :     

(I) वोडफ-स्कश् नर अपचयन  

(II) स्वकाबोस्क्सिकरण अस्िस्क्रया 3+2=5 

प्रबि िापन 

ऊष्मा 

COONa 

सांि NaOH 

⎯⎯⎯⎯→4 10P O



−

O

C Cl

2CONH

2CONH

⎯⎯⎯⎯⎯→
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(c)  How can you distinguish between Butan-1-ol and  

2-Methylpropan-2-ol by using HCl in the presence of anhydrous 

ZnCl2 ? 1   Name the linkage which joins two nucleotides. Name the base that is found in nucleotide of RNA but not in DNA. 1 

SECTION E 

31. (a) (i) Identify A, B and C in the following reactions :  

                                              + CrO3 
3 2( )

– 3

CH CO

273 28

O

K
⎯⎯⎯⎯⎯⎯⎯→A 

+
3H O

⎯⎯⎯⎯→B 

 

                                                                         

                                                                                       C + 

   (ii)  Give reasons for the following : 

(I)  Carboxylic acids do not give the characteristic reactions 

of carbonyl group.   

(II) Ethanoic acid is a stronger acid than ethanol.  3+2=5  

                 OR 

 (b) (i) Write the product(s) in the following reactions :  

(I) 2CH3COOH  (I) 2CH3COOH  

 

(II)                                       +  (CH3)2Cd →  

                                       

  (III)         

 

 (ii) Write the reaction involved in the following reactions :  

(I) Wolff-Kishner Reduction 

(II) Decarboxylation Reaction 3+2=5 

CH3 

COONa 

Conc. NaOH 

strong heating 

heat 
⎯⎯⎯⎯→4 10P O



−

O

C Cl

2CONH

2CONH

⎯⎯⎯⎯⎯→
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32. (क) (i) उस गैडवैनी सेि का E
सेि

 पररकस्िि कीस्जए स्जसमें 25C पर स्नम्नस्िस्खि 

अस्िस्क्रया होिी ह ै: 

 Zn(s) + Pb2+(0·02 M) ⎯→⎯  Zn2+(0·1 M) + Pb(s) 

[स्दया गया ह ै: 2+
Zn /Zn

E = – 0·76 V,  2+
Pb /Pb

E = – 0·13 V; 

 log 2 = 0·3010,  log 4 = 0·6021,  log 5 = 0·6990]  

 (ii) फैराडे का स्वद्युि-अपघटन का प्रर्थम स्नयम बिाइए । एक मोि 
–
4MnO  को Mn2+ 

आयन में अपचस्यि करने के स्िए फैराडे के पदों में स्किनी स्वद्यिु की आवश्यकिा 

होगी ? 3+2=5 

 अथवा 

(ख) (i) 298 K पर 0·001 M KCl स्वियन से िरे हुए एक चािकिा सेि का प्रस्िरोि 

1000 ओम ह ै । यस्द 0·001 M KCl स्वियन की 298 K पर चािकिा  

0·125  10–3 S cm–1  ह,ै िो सेि स्तर्थरांक क्या ह ै?   

(ii) 25C पर स्नम्न अिा सेि के स्िए 2+Mg /Mg
E  स्विव पररकस्िि कीस्जए  :  

 Mg/Mg2+ (1  10– 4 M);  2+Mg /Mg
E  = + 2·36 V 

 [स्दया गया ह ै: log 10 = 1] 

(iii) िास्त्वक चािक के स्वद्यिुीय चािकत्व पर िाप का क्या प्रिाव पडिा ह ै ? 2+2+1=5 

33. (क) (i) स्नम्नस्िस्खि के स्िए कारण दीस्जए :  

(I) Cr2O7
2– आयन का नारंगी रंग पीिे में पररवस्िाि हो जािा ह ैजब इसे क्षार 

के सार्थ अस्िस्क्रस्यि स्कया जािा ह ै। 

(II) Zn, Cd और Hg संक्रमणेिर ित्त् व हैं ।  

(III) Mn3+ /Mn2+ यगु्म के स्िए E का मान (+1·57 V)  Cr3+ /Cr2+ के 

मान से बहुि अस्िक िनात्मक होिा ह ै।  

(ii) क्या होिा ह ैजब :  

(I) अम्िीय माध्यम में मैंगनेट आयन असमानपुािन अस्िस्क्रया दिेा ह ै?  

(II) KMnO4 को गरम स्कया जािा ह ै? 3+2=5 

 अथवा 
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32. (a)  (i)  Calculate Ecell of a galvanic cell in which the following 

reaction takes place at 25C : 

 Zn(s) + Pb2+(0·02 M) ⎯→⎯  Zn2+(0·1 M) + Pb(s) 

[Given : 2+
Zn /Zn

E = – 0·76 V,  2+
Pb /Pb

E = – 0·13 V; 

      log 2 = 0·3010,  log 4 = 0·6021,  log 5 = 0·6990]. 

   (ii) State Faraday’s first law of electrolysis. How much 

electricity, in terms of Faraday, is required to reduce one mol 

of 
–
4MnO  to Mn2+ ion ? 3+2=5 

                                           OR 

 (b) (i) The resistance of a conductivity cell containing 0·001 M KCl 

solution at 298 K is 1000 ohm. What is the cell constant  

if conductivity of 0·001 M KCl solution at 298 K is  

0·125  10
–3

 S cm
–1

 ?   

  (ii) Calculate the 2+Mg /Mg
E potential for the following half cell 

at 25C : 

 Mg/Mg2+ (1  10– 4 M);  2+Mg /Mg
E  = + 2·36 V 

 [Given : log 10 = 1]  

(iii) What is the effect of temperature on the electrical 

conductance of metallic conductor ?  2+2+1=5  

33. (a) (i) Account for the following :  

   (I)  Orange colour of Cr2O7
2– ion changes to yellow when 

treated with an alkali.  

   (II) Zn, Cd and Hg are non-transition elements.  

   (III) E value for Mn3+/Mn2+ couple is highly positive  

(+1·57 V) as compared to Cr3+/Cr2+. 

  (ii) What happens when : 

   (I) Manganate ion undergoes disproportionation reaction 

in acidic medium ? 

   (II) KMnO4 is heated ?  3+2=5 

                                           OR 
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(ख) स्नम्नस्िस्खि प्रश् नों के उत्तर दीस्जए : 51=5 

(i) ‘स्मश िाि’ु क्या ह ै?  इसका एक उपयोग दीस्जए । 

(ii) क्रोस्मयम के एक ऑक्सो-ॠणायन का सतू्र स्िस्खए स्जसमें यह समहू संख्या के समान 

ऑक्सीकरण अवतर्था दशाािा ह ै। 

(iii) वैनेस्डयम पेन्टॉक्साइड (V2O5) उत्प्रेरक की िााँस्ि काया क्यों करिा ह ै? 

(iv) संक्रमण ित्त् वों की कणन एन्र्थैडपी उच्च क्यों होिी ह ै? 

(v) Na2CrO4 से आप Na2Cr2O7 कैसे बनाएाँगे ? 
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 (b) Answer the following questions :  51=5 

(i)  What is ‘Misch metal’ ? Give its one use. 

(ii) Write the formula of an oxoanion of chromium in which it 

shows the oxidation state equal to its group number.  

(iii) Why does Vanadium pentoxide (V2O5) act as a catalyst ? 

(iv) Why do transition elements have high enthalpies of 

atomisation ? 

(v) How do you prepare Na2Cr2O7 from Na2CrO4 ? 
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candidates. Sharing this policy/document to anyone, publishing in any magazine and printing in 
News Paper/Website etc may invite action under various rules of the Board and IPC.” 

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done 
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These are in the nature of Guidelines only and do not constitute the complete answer. The students can 
have their own expression and if the expression is correct, the due marks should be awarded 
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A full scale of marks __________(example 0 to 80/70/60/50/40/30 marks as given in Question Paper) 
has to be used. Please do not hesitate to award full marks if the answer deserves it. 

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and 
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects 
(Details are given in Spot Guidelines).This is in view of the reduced syllabus and number of questions in 
question paper. 

Ensure that you do not make the following common types of errors committed by the Examiner in the 
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● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
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● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
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Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  
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Any unassessed portion, non-carrying over of marks to the title page, or totaling error detected by the 
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the 
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions 
be followed meticulously and judiciously. 

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for Spot 
Evaluation” before starting the actual evaluation. 

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page, 
correctly totaled and written in figures and words. 

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the 
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again 
reminded that they must ensure that evaluation is carried out strictly as per value points for each answer 
as given in the Marking Scheme. 
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MARKING SCHEME 2024-25 

CHEMISTRY (Theory)- 043 
QP CODE  56/6/2          MM: 70 

Q.No Value points  Mark 

 SECTION A 1 

1 B 1 

2 D 1 

3 A 1 

4 C 1 

5 A 1 

6 C 1 

7 B 1 

8 D 1 

9 A 1 

10 B 1 

11 C 1 

12 B 1 

13 A 1 

14 B 1 

15 A 1 

16 D 1 

 SECTION B   

17 • The partial vapour pressure of each component of the solution is directly 
proportional to its mole fraction present in solution. 

• Because glucose decreases the surface area and hence decreases the escaping 
tendency of water 

1 
 
1 

18 
 

a) i) Dichloridobis(ethane-1,2-diamine)cobalt(IV) sulphate  
              ii) Potassium trioxalatoferrate(III) 

1 
1 

 OR  

18 b) i) Double salts dissociate into simple ions while complex compounds do not 
dissociate completely into ions when dissolved in water.  (Or any other suitable 
difference) 

             ii) When a ligand binds through two donor atoms is called a didentate ligand     
while a unidentate ligand which has two different donor atoms and either of the two 
ligates in the complex is called ambidentate ligand. 

 
1 
 
 
1 

19 
 
 

a) First order 
b) Slope= k/ 2.303 

1 
 
1 

20 
 
 

a) Glucose gets oxidised to six carbon carboxylic acid (gluconic acid) on reaction with a mild 
oxidising agent like bromine water. This indicates the presence as an aldehydic group / 

 
b) Acetylation of glucose with acetic anhydride gives glucose pentaacetate which confirms 

the presence of five –OH groups / 

 

1 
 
 
 
 
 
 
 
 
1 
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21 
 
 

 

a)                   b)  
 

 
 
 
1, 1 

 SECTION C  

22 
 
 

a) 

 
b) 
                 

 
c) 

  

 
 
 
1 
 
 
 
 
 
 
1 
 
 
 
 
 
1 

23 
 
 

A= CH3CH=CHCN   /  But-2-ene nitrile 
B= CH3CH=CHCHO / But-2-enal 
 
     CH3CH=CHCN     CH3CH=CHCHO 

 

1 
1 
 
 
 1  

24                               SN1                                  SN2 

1 Unimolecular Bimolecular 

2 It follows first order kinetics It follows second order kinetics 

3 Retention of configuration Inversion of configuration 

4.  Racemisation occurs No racemisation is seen 

5. Takes place through formation of 
carbocation 

Takes place through formation of 
transition state 

6. Occurs in polar protic solvent Occurs in polar aprotic solvent 

7. Rate is independent of the 
concentration of the nucleophile. 

Rate is dependent on the 
concentration of the nucleophile. 

                                                                                                                                                     (Any TWO ) 

, because of the stability of benzyl carbocation 

 
 
1+1 
 
 
 
 
 
 
 
 
 
 
 
½+½ 
 

25 
 
 

 
  m= ΔTf/ Kf 
  m= 0.3/1.86 
      = 0.16m 
   

½ 
 
 
½ 
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     m = 
𝑥2 X 1000

𝑀𝐴
 

 

    x2=  
0.16 𝑋 18

1000
 = 2.88 X 10-3 

      

          
24.8−𝑝1 

24.8
 = 2.88 X 10-3 

 
                     = 2.88 X 10-3 × 24.8 mm Hg 

        = 0.07 mm Hg 

 
 
 
 
 
 
½ 
 
 
½ 
 
½ 
 
½ 

26. 
 
 
 

a) [FeF6]3–      -sp3d2              
      [Fe(CN)6]4– - d2sp3 

b) [FeF6]3–      -outer orbital complex        
       [Fe(CN)6]4– - inner orbital complex 
c) [FeF6]3–      - paramagnetic  

               [Fe(CN)6]4- -diamagnetic  

½+½ 
 
½+½ 
 
½+½ 
 

 OR  

26 a) It becomes colourless/ colour slowly fades away 
b) t2g

3eg
2 

c) sp3, diamagnetic 

1 
1 
½+½ 

27 
 
 
 
 

a) Because of the formation of NaOH / Due to the formation of OH- ions. 
b) Because the overall reaction does not involve any ion in solution whose 

concentration can change during its life time. 
c) Because the number of ions per unit volume that carry current in a solution 

decreases. 

1 
1 
 
1 

28 
Rate = k [ A]p [B]q 

5·0  10
–3

= k [ 0.01]p [0.01]q………Eq 1
                

1·0  10
–2

= k [ 0.02]p [0.01]q………Eq 2
 

5·0  10
–3

= k [ 0.01]p [0.02]q………Eq 3
          

On Comparing (eq1) and (eq3) 

                1= (2)q 

q = 0 

On Comparing (eq1) and (eq2)  

 (2)1= (2)p 

 p = 1 
 Order w·r·t A = 1   
 Order w·r·t B= 0 
From eq 1  

 5·0  10
–3

= k [ 0.01]1 [0.01]0 

      k =0.5 min
–1                                                          

 

 
 
 
 
 
 
 
 
 
 
 
 
 
1 
 
 
 
     
1 
 
 
 
½  
 
½  
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 SECTION D  

29 a) (i) A linkage which joins amino acids through -CO-NH- bond 
              (ii) When a protein in its native form, is subjected to physical change like change in 
               temperature or chemical change like change in pH, it loses its biological activity. 

b) Due to zwitter ion formation which can react with both acids and bases./ Due to 
the presence of both carboxylic group and amino group. 

c) (i) Fibrous protein: parallel polypeptide chain structure / insoluble in water 
                 Globular protein: spherical polypeptide chain structure/ soluble in water  
                                                                                                                             (Any one difference) 
                                                                 OR 
        c) (ii) α-helix and β-pleated sheet 

1 
1 
 
 
1 
1 
 
 
 
½ + ½ 

30 a) i)  

/ 2,4,6-Tribromophenol is formed 
ii)  

/ 2,4,6-Trinitrophenol / Picric acid is formed. 
b) (i) 

 
                                                               OR 
b)(ii) due to sp2 hybridisation leading to shorter bond length / Due to resonance leading to partial 
double bond character of C-OH bond  
c) 2-Methylpropan-2-ol gives turbidity immediately whereas butan-1-ol does not react. 

 

 
 
1 
 
 
 
 
 
 
 
 
 
1 
 
 
 
 
 
1 
 
1 
 
1 

 SECTION E  

31 (a) (i)  

A=  

B=  

C=  
(ii)  
(I) Because carbon of carboxyl group is less electrophilic due to resonance with -OH group. 
(II) Because ethanoate ion is more stable than ethoxide ion due to resonance.  

 
 
1 
 
 
 
1 
 
 
1 
 
 
1 
1 

 OR  

31 (b)i) (I) 

       /  (CH3CO)2O 

 
 
 
1 
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(II) 

 
(III) 

 
(ii) 

(I)  

(II)  

 
 
 
 
1 
 
 
 
 
1 
 
 
 
 
 
1 
 
1  

32 (a) (i)  

                    ECell = (𝐸𝑜
𝑐– 𝐸𝑜

𝑎) - 
0⋅059

2
𝑙𝑜𝑔 [

𝑍𝑛2+

𝑃𝑏2+] 

                              = [(–  0 ⋅ 13) − (−0 ⋅ 76)]–
0⋅059

2
𝑙𝑜𝑔

0⋅1

0⋅02
                                                           

                              = 0.63 – 0.0295 log 5 
                              =0.63-0.0295 X 0.699    
                              = 0.63-0.02 
                              = 0.61V                                             (Deduct ½ mark for no or incorrect unit)                              
(ii)       
The amount of chemical reaction which occurs at any electrode during electrolysis by a 
current is proportional to the quantity of electricity passed through the electrolyte. 
5F  

 
1 
 
1 
 
 
 
1 
 
1 
 
1 

 OR  

32.  (b) (i) 
               k= G*/R                                                                                    
                  G* = k X R =0.125 X 10-3 X 1000 
                       =0.125 cm-1 

(ii)  E 
Mg

2+
/Mg = E0 

Mg
2+

/Mg – 
0⋅059

2
log 

1

[𝑀𝑔2+ ]
  

 = 2.36 V – 
0⋅059

2
 log 

1

10−4  

 = 2.36– 0·0295 X 4 log 10 
 = 2.242 V 
(iii) It decreases with increase in temperature  

 
½ 
1 
½ 
 
1 
½ 
 
½ 
1 

33 
 
 
 
 
 
 
 
 
 

(a) (i)  
(I) Due to formation of chromate /CrO4

2- ion  
(II) Due to completely filled d-orbitals in ground state as well as oxidised state.  
(III) Because Mn2+ is more stable due to stable 3d5 configuration whereas Cr3+ is more stable due 
to stable t2g

3 configuration. 
 
(ii) 
(I) it changes to permanaganate ion / MnO4

- is formed / 

 
(II) Potassium manganate/ K2MnO4 is formed /  

 

 
1 
1 
1 
 
 
 
 
1 
 
 
1 
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 OR  

33 (b) i)  

• An alloy of lanthanoid / an alloy of lanthanoid and iron with traces of S, C, Ca and Al.  

• used in making bullets/shells/ lighter flint 
ii) CrO4

2-/ Cr2O7
2- 

iii) variable oxidation state of vanadium / large surface area /Complex formation 
iv) Because of large number of unpaired electrons in their atoms they have stronger interatomic 
interaction or strong metallic bonding 
v) by acidification of Na2CrO4/ 

 

 
 
½ +½  
1 
1 
1 
 
 
1 
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